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Practice 6:  Find ܴ௘௤

4 4

18
15

9
8

Req

3

15
6

5

Req

20

Req=(9//18+4)//15+4+8 Ω
=10//15+12 Ω
=18Ω

Req=(20//5+6)//15+3 Ω
=10//15+3 Ω
=9 Ω

Solution:

Practice 7:  Find  ܫ௦

9

510

18

30V

ݏܫ

+


4

Req=(9//18+4+5)//10 Ω
=15//10 Ω = 6 Ω

Is = 30/6 A = 5A

Solution:

9

510

18

30V

ݏܫ

+


4

Shrink the wire to one point
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3

30
sv





Practice 8:  Find  ݏݒ

14

1015

2A

Req = (10//15+14)//30+3 Ω = 15 Ω

Vs=2ൈ15=30 V
Practice 9:  Find ݒଵ, ଶݒ

+ 

4 6

15V

൅			ݒଵ 			െ ൅			ݒଶ 			െ

Solution:

Solution:

ଵݒ ൌ
4

4 ൅ 6
ൈ 15ܸ ൌ 6ܸ

ଶݒ ൌ
6

4 ൅ 6
ൈ 15ܸ ൌ 9ܸ

3

30
sv




14

1015

2A

Practice 10:  Find ݅ଵ, ݅ଶ

ܣ3
4 2

4݅ଵ

݅ଶ

Solution:

݅ଵ ൌ
6

4 ൅ 6
ൈ ܣ3 ൌ ܣ1.8

݅ଶ ൌ െ
4

4 ൅ 6
ൈ ܣ3 ൌ െ1.2ܣ
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Practice 11:  Find  ݅ଵ, ݅ଶ, ݅ଷ, ݅ସ, ௫ܫ

20

2010

30

3A

ݔܫ

݅ଵ
݅ଶ

݅ସ݅ଷ

20

2010

30

3A

݅ଵ
݅ଶ

݅ସ݅ଷ

Shrink to one 
point

extend

20

2010

30

3A

݅ଵ
݅ଶ

݅ସ݅ଷ

଴ܫ

In all three circuits, ݅ଵ, ݅ଶ, ݅ଷ, ݅ସ are the same

How about ܫ௫, 	?଴ܫ

଴ܫ ൌ ݅ଵ ൅ ݅ଶ ൌ ݅ଷ ൅ ݅ସ ൌ ܣ3
௫ܫ ൌ ݅ଵ െ ݅ଷ ൌ ݅ସ െ ݅ଶ

By current division: 

݅ଵ ൌ
20
30

ൈ 3 ൌ ;ܣ2 ݅ଶ ൌ ;ܣ1

݅ଷ ൌ ;ܣ1.8 ݅ସ ൌ ;ܣ1.2

௫ܫ ൌ ݅ଵ െ ݅ଷ ൌ ܣ0.2

௫ܫ ൌ ݅ସ െ ݅ଶ ൌ ܣ0.2

Practice 12:  Find ܫଵ, ,ଶܫ ସݒ

30V

46

6

3

15

+


൅				ݒସ 		െ

ଵܫ

ଶܫ

Solution: equivalent ܴ௘௤ w.r.t. 30V,  
Req=15//10+3+6 Ω =15 Ω
The current should leave the 
positive terminal of a voltage source 
Thus ܫଶ must be negative: 
I2 = െ	30/15 A = െ	2 A

By current division:

Iଵ ൌ
ଵ଴

ଵ଴ାଵହ
ൈ ሺെܫଶሻ ൌ ଷܫ  ,ܣ0.8 ൌ െܫଶ െ ଵܫ ൌ ܣ1.2

ସݒ ൌ ଷܫ4 ൌ 4.8ܸ
Practice 13:  Find ܫ଴, ସݒ

12

5

6 4
4v




3.5A

8ܫ଴

I1

R1 R2

Solution:
R1=12//6+5 Ω=9Ω
R2=4+8 Ω=12Ω

ଵܫ ൌ 3.5 ൈ
ܴଶ

ܴଵ ൅ ܴଶ
ൌ ܣ2

଴ܫ ൌ
6

12 ൅ 6
ൈ ଵܫ ൌ ܣ0.667

ସݒ ൌ ሺ3.5 െ ଵሻܫ ൈ 4ܸ ൌ 6ܸ

െܫଶ ଷܫ



2/6/2017

4

15
+


Practice 14:  Find ܫ଴, ଶݒ 6

6

6 102v





20ܸ
଴ܫ

I1

I2

Req=(15//10+6)//6+6Ω=10Ω

ଶܫ ൌ
ଶ଴

ଵ଴
ܣ ൌ by ohms Law  ,ܣ2

ଵܫ ൌ 2 ൈ
଺

଺ା଺ା଺
ܣ ൌ

ଶ

ଷ
by current division  ,ܣ

଴ܫ ൌ
ଶ

ଷ
ൈ

ଵହ

ଵହାଵ଴
ܣ ൌ also by current division  ,ܣ0.4

By	KCL,		ܫଷ ൌ ଶܫ െ ଵܫ ൌ 2 െ
ଶ

ଷ
ൌ

ସ

ଷ
ܣ

ଶݒ ൌ ଷܫ6 ൌ 8ܸ

Solution: Equivalent resistance w.r.t. 20V:

ଷܫ

Practice 15:  Find the voltage ݔݒ

+ 
30V

126

1812

xv





+   v1 െ

+   v2 െ

ଵݒ ൌ 30 ൈ
଺

ଵଶା଺
ܸ ൌ 10ܸ, 

ଶݒ ൌ 30 ൈ
12

12 ൅ 18
ܸ ൌ 12ܸ,

௫ݒ ൌ ଶݒ െ ଵݒ ൌ 12 െ 10ܸ ൌ 2ܸ

Solution:

By voltage division:

By KVL,  ݒଵ ൅ ௫ݒ െ ଶݒ ൌ 0	
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30V

10

Practice 16:  Find 0ݒ, 		,௫ܫ

6

15
6

12

xv





4

௫ܫ

+


I3

I1
I2

Solution:

Req=10+10//15+6//12Ω=20Ω

ଵܫ ൌ
30
20

ܣ ൌ ܣ1.5

ଶܫ ൌ 1.5 ൈ
15

15 ൅ 10
ܣ ൌ ܣ0.9

ଷܫ ൌ 1.5 ൈ
12

6 ൅ 12
ܣ ൌ ܣ1

௫ܫ ൌ ଶܫ െ ଷܫ ൌ െ0.1ܣ

௫ݒ ൌ 0.9 ൈ 6ܸ ൌ 5.4ܸ

Practice 16a:  Find v1, I0,  

9

520

18

1v



5A

15
I0

I1

I3

I2 ଵܫ ൌ 5 ൈ
20| 5 ൅ 9 |18

20 5 ൅ 9 18 ൅ 15
ܣ ൌ ܣ2

ଶܫ ൌ 5 െ 2 ൈ
5

20 ൅ 5
ܣ ൌ ܣ0.6

ଷܫ ൌ 5 െ 2 ൈ
18

9 ൅ 18
ܣ ൌ ܣ2

଴ܫ ൌ ଶܫ െ ଷܫ ൌ 0.6 െ ܣ2 ൌ െ1.4ܣ

ଵݒ ൌ 2 ൈ 15ܸ ൌ 30ܸ

Solution:
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36V

6

Practice 17:  Find ݒ௫, 		,ܫ

16

15
24

12

14

+
൅					ݒ௫ 				െ

	ܫ

Req=6+(15+12)//(14+24+16)Ω=24Ω

I=36/24 A = 1.5A

i1i2

݅ଵ ൌ 1.5 ൈ
54

54 ൅ 27
ܣ ൌ ܣ1

݅ଶ ൌ 1.5 െ ܣ1 ൌ ܣ0.5

௫ݒ ൌ ଵݒ െ ଶݒ ൌ 16݅ଶ െ 12݅ଵ ൌ െ4ܸ

Solution:

൅
ଵݒ
െ

൅
ଶݒ
െ

Equivalent resistance w.r.t. 36V:

By current division and KCL: 

8

4
3

4

i0

Practice 18:  Find i0

3A

i1

Solution:

݅ଵ ൌ 3 ൈ
8

8 ൅ 4 ൅ 4||3
ܣ ൌ ܣ1.75

݅଴ ൌ 1.75 ൈ
3

3 ൅ 4
ܣ ൌ ܣ0.75
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+ 
8

4
3

4

24V

i0

Practice 19:  Find i0
I

Solution:

ܫ ൌ െ
24

8 ൅ 4 ൅ 3||4
ܣ ൌ െ1.75ܣ

݅଴ ൌ െ1.75 ൈ
4

3 ൅ 4
ܣ ൌ െ1ܣ

Practice 20:  Find R for the circuit

6R

20V
+


+


30V
 10  V 

4

ܫ ൌ
10
ܴ

I

ܴ ൅ 6 ൅ 4 ܫ െ 30 െ 20 ൌ 0

Solution:

R=2.5Ω
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6

௦ܸ

+


4

Practice 21: Find Vs for the circuit

10 9

I1=2A

I3

I2

ଷܫ ൌ
2 ൈ ሺ6 ൅ 9ሻ

10
ܣ ൌ ܣ3

ଶܫ ൌ ଵܫ ൅ ଷܫ ൌ 2 ൅ ܣ3 ൌ ܣ5

Req=(6+9)//10+4Ω=10Ω

௦ܸ ൌ 5 ൈ 10ܸ ൌ 50ܸ

Solution:

Practice 22:  Find R so that ܫ௦ is 10A

10

64ܸ
+


4

8/3 R

Is=10A

Solution:

i1

+v1‐

+
v2
‐

i2

ଵݒ ൌ 4 ൈ 10ܸ ൌ 40ܸ

ଶݒ ൌ 64 െ 40ܸ ൌ 24ܸ

݅ଵ ൌ
24
8
3ൗ
ܣ ൌ ܣ9

݅ଶ ൌ 10 െ ܣ9 ൌ ܣ1

10 ൅ ܴ ൈ 1 ൌ 24 ܴ ൌ 14Ω


